5.6 Solutions of Inequalities January 06, 2021

olutions of Inequalitie

A solution of an inequality is a value that makes the identity frue.

Inequalities that contain a variable can have anIN er A'TZ

number of solutions.

jNEDN&Tt -> an endless number

A solution set of an inequality contains all the values of a variable

that make the inequality true.

You can use a humber line to show the solution set. Shade the
portion of the number line that shows the solutions.

Inequalities on a Number Line
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Example: Determine if the given value is a solution to the inequality.
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3HbeS [NoT A P

58 60 62

56
1¢5  (SurTon [SoLuTT on |

Example: Identify which of the given values are solutions.
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3)x=0,05, 25,2005 4)x =10, 5.5,%,5
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Example: Identify which of the given values are solutions.

5)x-2¢10 6.)x+0.25>0.75
a) x = 13 NOT & SOLUTTON a)x=0 NET A SITTON
12-2 £10 0+40.2520.3FS
I\ £10 0.2S =2 0.3S
byx=12 SOLWTLOAN b)x=05 SOLUTION
12-2 ¢10 0.95%0.75 2035
10<19 0.35 20.3s
c)x=11 c)x=1
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d)x=10 .15 20.395
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